STAT- 1301, lecture 19, March 21/, '8

Tn Chot.

Ex. An optitude Adest administered +o QirCraf+
Pilot Araimees requires oo Serides qp OF—Z(‘CULI'ons o be
Recformed in Quick Succession. Suppose that |te trme
needed 4o Complete tha test is rlormallg distribuled
Wit mean Y =90 mrndles  awd 0= 20 mmules,

o) To Fass the test, a  Candidate must Complefe
i wthin €0 mmndes . Lohat ?erCemTaja, of
Cardidates  will  Pass  tha  test ?

Civen: X _ 4rme l’\zaa’eo( +o C’omp/dz the 4est.
X ~ N(QO, 20O

Want . ?(X < YO )

J0 90



PK<g0) - P( 2 < 80-1 ) _P(2<-02)

20
Z? ns N(Ollj = O. 3037§

(Table :LTL)

Arprox. 31 o Candidates Pass the test.

) Tf the top 5 of the Candidates are o ke
gven 0 Certrficale of  Commendahon, how fast must
0 Candidate  Complete tie test 4o be é,/‘ra,'klz
for o Certuficate 7

N(qo, 20)

Now 7h:s Proé/ém /10 lves %no( 7% Number W/m_(.e_
/eﬁk la:/ ,Droéaéf/”} Under The Standard normal

0(2,-/151'7? Curve. s  0.05.



—1.6 < 0.0495

Wewark . Thrs Part b)) s asb/? g fo 74',.&( 2_/
the 5™ perceatrle o X

Now ezuazi/ the 5™ Percentle o The N(O;!)

distibubron  +o g _70  cnd Solve Lo %
o

7_ 90
20

= —L&5

D= —1.65@0) + 70 = 57 mmiss

le.- Jo  recene oc Cérh'ﬁ(‘a'ﬁé/, Qu o PpPlCant
wust C’Omf/efe_, e Fast (7 o rmore [han SZ

minules.



C) Find the FO™ Rercentle g the Pmbab,./,rg
O(I'S’f}’"éufro” GD/ COIM/)/e/ﬁ'On times.

Wﬁ”t . ?70
N(90,20)
Z=4-90
O /N 20
|
=
9o (/;';‘0
0.02
{ f
0. 9« 0. 785

Pl 2 <0.52) - 0.6985 ~ 0.7c
-7 _ 052

2O
= 9 = 20(0.5;2,) + 70 = [00.% mmiides

~% 7OZ 05 COWI/QkﬁOV) Prrmes e (00Y vainyles or /QSS.



Ex(F 642) See ebook,
/\/= mon?"/’;/ﬁ eleetric ConSumpfron  Per /youSer/o(

X ~ N (50, 320)

want : ?%
o0 Z-d 5 4
g L
/‘////. /// ,,
(650 Tao o Foo -l650

S5x 0

L ook. up 0.90 in The Qroa Porhion of “Jable [y
(7%,-5 g,ws us 1oe GO Pevcentle of  Zhe MN(Ou)
O/"S?LVt‘éu bow.) We 6{,‘(' [ 2%

te. P( Z< (.29) =0 §997 = O.90

0,0%

Z | 1

l.2 0. 599 -

1




320

q = 320(1.2Y ) +1650 = 2059.6 Kwh

Bill T’ monlbly Electric  Consumphon is R,057¢
kiR,

Cnd of Cho

Ck + sow.
See pAf notes Posted on  Mexas . “Ch 7.

Ex. A package of Lulps  Clams  That these bulbs
have an average [rfe 65 L4, Ut fows . ASSume lad
the lves of Gl Such  bulbs bave oo normal dystrb—
uhon  yylee & mean o R, b Lows and a
Stavdard - devichon o 2,000 hours. Find The Probabilt;
that The mean /:'fc of a random Somple -4 25
Such bulbs & s lhn  (L50 Jours 00/ the. PoPulafon

mean.



Sol’n:
A o lifotme ; NV~ Nl29%e , 2000)

“hant:

?(o’&‘%@-égo < X< 29%6 + 650 )

PR30 < Yo 250l )



